
Divide by Negative Powers of Ten (B)Find each quotient.
21 ÷ 10⁻³ = 80 ÷ 10⁻¹ =
1 ÷ 10⁻³ = 3 ÷ 10⁻³ =
32 ÷ 10⁻² = 86 ÷ 10⁻³ =
36 ÷ 10⁻¹ = 38 ÷ 10⁻² =
22 ÷ 10⁻³ = 56 ÷ 10⁻¹ =
55 ÷ 10⁻³ = 41 ÷ 10⁻² =
84 ÷ 10⁻³ = 18 ÷ 10⁻³ =
87 ÷ 10⁻¹ = 42 ÷ 10⁻¹ =
2 ÷ 10⁻³ = 10 ÷ 10⁻³ =
99 ÷ 10⁻² = 9 ÷ 10⁻¹ =
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Divide by Negative Powers of Ten (B) AnswersFind each quotient.
21 ÷ 10⁻³ = 21,000 80 ÷ 10⁻¹ = 800
1 ÷ 10⁻³ = 1,000 3 ÷ 10⁻³ = 3,000
32 ÷ 10⁻² = 3,200 86 ÷ 10⁻³ = 86,000
36 ÷ 10⁻¹ = 360 38 ÷ 10⁻² = 3,800
22 ÷ 10⁻³ = 22,000 56 ÷ 10⁻¹ = 560
55 ÷ 10⁻³ = 55,000 41 ÷ 10⁻² = 4,100
84 ÷ 10⁻³ = 84,000 18 ÷ 10⁻³ = 18,000
87 ÷ 10⁻¹ = 870 42 ÷ 10⁻¹ = 420
2 ÷ 10⁻³ = 2,000 10 ÷ 10⁻³ = 10,000
99 ÷ 10⁻² = 9,900 9 ÷ 10⁻¹ = 90
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